Enkopings BS

Dagbridge 2022-02-17

Partavling, 8 bord, 15 par. Antal brickor: 24. Medel: 144.0. Frirond (*) ger egen procent.

Plac Par Poéng % Namn MID Klubb
1 2 181.1 62.88 Birgitta Jakobsson - Anita Forsberg Eriksson 57881 61069 Enkodpings BS
2 6 180.0 62.50 Harry Gronholm - Mickey Maretics 89983 50249 PRO Enkdping Bridge - Enkdpings BS
3 12 169.1 58.71 Kari Mykkéanen - Hans-Erik Moberg 40976 90693 Enkopings BS
4 11 160.4 55.68 Bjorn Ove Pettersson - Bert Johansson 53085 53607 PRO Enkoping Bridge
5 13 156.0 54.17 Ylva Johansson - Brittmarie Frolén 11744 50144 Enkopings BS
6 7 153.8  53.41 Ingvor Thorsell - Séren Akerman 41312 47291 PRO Enkodping Bridge - Enkdpings BS
7 8 141.8 49.24 Bo Engdahl - Gunbritt Bosell 64711 64710 Enkopings BS
8 10 139.6 48.48 Bertil Lonnemo - Ulla Dyberg-Case 89940 33001 Enkdpings BS
9 9 138.5 48.11 Sture Wiman - Jean Ericsson 80223 80207 Enkopings BS
10 14 138.0 47.92 Britta Larsson - Harry Olsson 10000 44354 Enkopings BS
11 16 136.0 47.22 Sonja Moller - Margareta Dahlgvist 87675 51969 Enkdpings BS
12 3 129.8 45.08 Boris Pettersson - Kristina Montin 85580 89941 PRO Enkoping Bridge - Enkdpings BS
13 1 122.2 42.42 Ulla-Britt Cederberg - Gullan Runngren 89976 41311 Enkopings BS
14 4 113.5 39.39 Ulla Lindgren - Anita Ahlstrom 41501 16261 Enkdpings BS
15 5 100.4 34.85 Karin Laurin - Lennart Laurin 23607 23606 Enkdpings BS
1 498532 Basta kontrakt 2 49 Basta kontrakt 3 498
Nord v94 74 N D -3 -500 Ost v K10853 ANT S =630 Syd vKD1083
Ingen +94 NS + KKn8 ov + D9
#10842 & ¢ v & NT #E986 & ¢ v & NT D642
4 DKn1076 «4 N 101 1 6 3 4 Kn1073 #6542 N 117 109 10 4ED75 4K643
vE10653 v KDKn87 S 101 1 6 3 vE6 v Kn42 S 117 109 10 vKn74 vE2
¢ K72 ¢+ ED863 O 3 12127 4 ¢E72 ¢ D10943 026242 + K1032 ¢ EKn7
- «D3 V 3 12127 4 #K532 *7 V26242 «Kn7 #E853
4 EK + EKD8 4Kn102
v2 v D97 v 965
+ Kn105 ¢ 65 ¢ 8654
#EKKn9765 #DKn104 K109
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
9 4 54S-1 vA -50 120 00| 9 4 3NS+1 4J 630 120 00| 4 6 44 0= v5 -620 11.0 1.0
3 5 5v0+1 s A -480 6.0 6.0 3 5 4vN= &7 620 9.0 3.0[(10 5 440= *9 -620 11.0 1.0
8 11 5v O+1 *A -480 6.0 6.0{13 1 4v N= 46 620 90 30(11 3 3NO+1 *9 -630 70 5.0
13 1 5v 0O+1 *A -480 6.0 6.0[{14 7 3NN= ¢4 600 6.0 6.0(13 2 3NO+1 +5 -630 7.0 5.0
14 7 5v0+1 *A -480 6.0 6.0/10 2 2NN= +3 120 40 80| 1 16 44 O+1 &T -650 2.0 10.0
16 12 5v O+1 s A -480 6.0 6.0(16 12 24 S+1 vA 110 20 10.0| 9 12 44 V+1 vK -650 2.0 10.0
10 2 5vDO+1 &A -750 0.0 12.0( 8 11 4vy N-1 *7 -100 0.0 12.0(14 8 44 O+1 *9 -650 2.0 10.0
- 6 75| - 6 75| 7 - 6.4
4 4 863 5 « KKn106 6 4« K83
Vast v KKn75 Nord v32 Ost vK2
Alla ¢ DKn102 NS + D652 ov ¢ EKn1042
74 &#Kn73 #1098
4Knl102 4ED5 a7 4954 aE72 4 Kn965
v10832 vE4 vEKD1095 v Kn876 vEKn3 vD109
+E76 + K943 + K98 ¢ 743 + D85 + K9763
#1053 &EDKn6 #D52 »E98 #Kn754 #6
4 K974 4 ED832 4 D104
v D96 v4 v 87654
485 ¢ EKn10 ¢-
K982 *K1064 #EKD32
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
9 12 3NV-1 v5 100 90 3.0(12 4 44 S-= vA 620 120 00|11 6 INO-4 A 400 12.0 0.0
10 5 3NO-1 «8 100 90 30|10 1 5vV-3 4K 150 9.0 30(13 3 240-1 «A 100 10.0 2.0
13 2 3NO-1 4 100 90 30|13 3 5vV-3 «K 150 90 30|10 1 1¢ N-1 *6 -50 6.0 6.0
14 8 34 O-1 44 100 90 30| 5 7 24S+1 vA 140 6.0 6.0({12 4 3NN-1 45 -50 6.0 6.0
11 3 INO+1 *2 -120 40 80| 9 14 44 S-1 vA -100 20 10.0(16 2 3NN-1 +3 -50 6.0 6.0
1 16 3NO= »2 -600 10 11011 6 44S-1 vA -100 20 100| 5 7 3NN-2 46 -100 1.0 11.0
4 6 3NO= a4 -600 10 110(16 2 54S-1 vA -100 20 10.0| 9 14 3NN-2 45 -100 1.0 110
7 - 6.4 8 - 5.9 8 - 5.9
7 4952 8 a2 9 # K654
Syd v 8432 Vast v KKn6532 Nord v KDKn2
Alla 410983 Ingen ¢ 102 ov ¢ K82
*74 #E1083 K3
4~ K763 4 EKn8 4 D543 4 K1096 4D972  4Knl03
v K10 vE765 v10 vD94 v383 vE109
+ KDKn65 ¢ E42 + K96 + ED73 ¢ EDKn5 41043
#EKn »K98 #Kn9765 #K4 #ED5 #Kn842
4 D104 4« EKNn87 4E8
v DKn9 v E87 v 7654
*7 ¢ Kn854 4976
#D106532 «D2 #10976
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
13 4 3¢ V+3 &7 -170 120 0.0|11 2 4v¥y N= &K 420 120 00| 2 6 240-2 ¢+9 200 12.0 0.0
1 5 3NO+3 *6 -690 6.0 6.0(10 14 2v N+2 46 170 100 20|12 3 3vS= ¢A 140 10.0 2.0
3 16 3NO+3 *7 -690 6.0 6.0 1 5 3sV-1 *A 50 80 40|14 11 2¢ V-1 vK 100 8.0 4.0
10 14 3N O +3 ¢7 -690 60 6.0 6 8 4v N-1 &K -50 50 70| 1 8 INN= &4 90 40 8.0
11 2 3NO+3 *2 -690 6.0 6.0(13 4 4y N-1 +3 -50 50 7.0 7 9 INN= *2 90 40 8.0
12 7 3NO+3 «5 -690 6.0 6.0 3 16 4v N-2 46 -100 2.0 10.0{16 4 INN= *2 90 40 8.0
6 8 6NO+1 &6 -1470 0.0 12012 7 34 0= vA -140 0.0 120|13 5 2NO= v4 -120 0.0 12.0
-9 58| - 9 58| - 10 5.8
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10 « KD852 11 4 E2 12 « Kn106
Ost v 109 Syd v EKKn873 Vast v D9864
Alla ¢ DKn Ingen + 86 NS ¢ E872
#EKn104 #Kn63 &9
43 « EKn1074 & K53 & Kn9g84 « EK973 4852
v732 v EK854 v D52 v 109 vKnl0 75
¢+ E109862 +¢3 +52 + KDKn43 + D109 +Kb64
#KD3 *72 #KD1085 #E7 #876 #EKD54
» 96 « D1076 «D4
v DKn6 v 64 v EK32
¢+ K754 ¢ E1097 ¢ Kn53
#9865 942 #Kn1032
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 3 3NV-3 4 300 120 00| 2 9 2NV-4 vA 200 120 00| 3 7 3vy N= &A 140 120 0.0
13 5 3NV-2 &4 200 100 20|13 6 2y N+2 ¢K 170 100 20| 1 4 INO-1 v2 50 9.0 3.0
2 6 4v0-1 49 100 80 40| 1 4 340-3 v4 150 80 40| 5 16 24 V-1 &9 50 9.0 3.0
7 9 3v0O= 29 -140 6.0 6.0 5 16 3vy N= &A 140 60 60| 2 9 laV+l 29 -110 6.0 6.0
14 11 3v O+1 49 -170 30 90|14 12 2v N= «A 110 40 80| 8 10 14 V+2 v9 -140 2.0 10.0
16 4 2y O+2 *4 -170 30 90| 3 7 2vyN-1 &A -50 1.0 11.0(13 6 24 V+1 &9 -140 2.0 10.0
1 8 3NV+1 a2 -630 0.0 12.0| 8 10 3vy N-1 A -50 1.0 11.0(14 12 1a V+2 29 -140 2.0 10.0
- 10 58|11 - 6.7 11 - 6.7
13 410753 14 « D7 15 4109872
Nord v 7432 Ost v Kn92 Syd vD74
Alla +32 Ingen + 10974 NS ¢ Kn95
K72 &#KD43 £D6
« KD8 & EKn642 « E8642 4 KKn105 aKn » ED65
vDKn86 v K95 vD73 v 108 v 106 v K52
¢+E874 +D5 ¢ EDKn ¢K3 + 1072 + ED43
*64 #D98 »86 #EKN972 #Kn1098742 #E5
49 493 « K43
vE10 v EK654 v EKn983
+ KKn1096 4 8652 + K86
#EKn1053 #105 *K3
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
114 3NO-1 T 100 120 00| 4 8 3NV-2 v2 100 120 00|13 8 3NO-4 v3 200 120 0.0
2 5 340= A -140 90 30| 3 10 34 V= &K -140 100 2.0|10 12 3NO-2 vJ] 100 100 2.0
9 11 34 O= &A -140 90 30| 2 5 4eV= ¢7 -420 70 50[ 2 14 3¢ O-1 vA 50 6.0 6.0
13 7 2NS-2 v6 -200 6.0 6.0|13 7 4e V= v9 -420 70 50| 4 11 3NO-1 v9 50 6.0 6.0
3 10 44 O= A -620 20 100| 1 14 44 V+1 &K -450 40 80| 5 9 2NO-1 v8 50 6.0 6.0
4 8 44 O= *T -620 20 10.0| 9 11 4a V+2 &K -480 1.0 110 3 6 2¢ O= vA -90 2.0 10.0
16 6 44 O= +6 -620 20 10.0|16 6 44 V+2 *T -480 1.0 11.0( 7 16 2v S-2 aJ -200 0.0 12.0
12 - 7.0 12 - 7.0 -1 5.1
16 4 Kn 17 4« Kn842 18 «E94
Vast v K94 Nord v E954 Ost v Kn7532
ov 4976543 Ingen + 10975 NS 482
#KD10 &9 K43
4108532 & EK964 4 E105 4 D9 4 KKn1076 D5
vKnl0 vD8 v 832 v KKn76 vD8 v 1096
+ D108 + EK2 + Kn3 4642 ¢ Kn74 + EKD1053
#642 «Kn75 #DKn864 #E1072 #Kn97 #65
« D7 K763 #3832
v E76532 vD10 v EK4
¢+ Kn + EKD8 ¢ 96
#E983 #K53 #ED1082
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng
13 8 4v S+1 45 450 120 00| 6 10 24 S+2 &J 170 120 0.0| 6 10 3v N+2 «Q 200 120 0.0
4 11 INO-4 v3 400 100 20|13 9 INS+1 &4 120 100 20| 5 12 3v N+1 ¢+Q 170 100 2.0
2 14 3v S+2 42 200 70 50|14 3 3¢ S= ¢+Q 110 80 40|14 3 3¢ 0-2 «A 100 8.0 4.0
3 6 3vS+2 «T 200 70 50|11 1 INS= &4 90 50 70|11 1 24 0= vA -90 6.0 6.0
7 16 34 O-1 +J 100 40 80|16 8 INS= *6 90 50 70| 4 7 3¢40+1 vA -130 2.0 10.0
10 12 24 O = +J -110 20 100| 5 12 INS-1 &4 -50 20 10.0|13 9 4¢ O= vA -130 2.0 10.0
5 9 340= vA -140 0.0 120| 4 7 INS-2 &8 -100 0.0 120|116 8 4¢ O= vA -130 2.0 10.0
-1 51| - 2 75| - 2 7.5
19 4 E2 20 41063 21 # KKn85
Syd v 102 Vast v EKDKn Nord vKD108
oV ¢ KKn43 Alla ¢ Kn943 NS ¢+ Kn76
£K10632 #Kn8 109
4 KDKn964 4103 « KD & Kn87542 4107 « ED9643
v 96 vED74 v 9532 v- vE9752 v4
+D1098 ¢+ E762 +D10762 ¢ K8 +83 + K942
«D #Kn87 &E4 #D9752 K842 #53
4875 «E9 a2
v KKn853 v 108764 vKn63
+5 ¢+ E5 + ED105
#E954 #K1063 #EDKnN76
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
7 11 3 N+1 «T 130 100 20| 6 1 4vS= &A 620 100 20| 6 9 3NN= 43 600 11.0 1.0
9 16 3# N+1 «T 130 10,0 20| 7 11 4v S= 4K 620 100 2.0(16 10 3NN= +4 600 11.0 1.0
14 4 3&N+1 43 130 100 2.0|13 10 4v S= &A 620 100 20| 8 12 3&S+2 +8 150 8.0 4.0
6 1 24V-1 vT 100 60 6.0 5 8 4¢vN-1 48 -100 30 90|13 11 3v N= «A 140 6.0 6.0
12 2 24 V= »2 -110 40 80| 9 16 4v S-1 a K -100 30 90| 1 3 340-2 «A 100 40 8.0
13 10 34 V= vT -140 20 100|12 2 4vS-1 &K -100 30 90| 7 2 240-1 ¢ A 50 2.0 10.0
5 8 44 N-3 43 -150 0.0 12.0|14 4 4vy N-1 a4 -100 30 90| 5 14 3NN-1 46 -100 0.0 12.0
3 - 54 3 - 5.4 4 - 4.7
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442

v 842

+ K9875
#1083

& EKKn10875 & D63

23 « ED6

Syd v-

Alla ¢ E543
#D87543

#1083 & Kn7542

& EKDKN75
v 965
¢ 104
&D7
#1082

49
v EK107432 vD8

v KKn763 vD87642 vE103
+ D6 + D6 + K108 + K86 + D7
&#Kn52 &62 &EKn #106 &#KKn9854
49 4 K9 4643
vE109 v KKn95 vKn
¢ EKn432 ¢ Kn972 ¢ EKn9532
»EKD4 K109 »E32
Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
54D0O-3 ¢K 800 120 00| 6 14 3NN+1 46 630 11.0 10| 6 14 44 N+1 vQ 450 12.0
5¢ S= A 400 90 3011 16 3NN+1 s 630 11.0 10| 2 4 44 N= &4 420 7.0
5¢ S= aA 400 90 30| 9 1 3NS= 46 600 80 40| 7 10 44 N= vQ 420 7.0
4a V-2 &T 200 60 6.0 2 4 2NS+1 a3 150 50 70| 9 1 44 N= vQ 420 7.0
4¢ S+1 oA 150 40 8.0| 7 10 34 S+2 v6 150 50 7.0(11 16 4« N= vQ 420 7.0
34 V-1 +K 100 20 10.0| 8 3 44 N= a4 130 20 100 8 3 5vV-1 oA 50 20 1
6¢ S-1 s A -50 0.0 12013 12 3« S= v8 110 0.0 12.0(13 12 54 N-2 +Q -100 00 1
4.7 - 5 4.2 - 5

Ahoooooo
Nooooooo
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